NOTES

3.4 Chain Rule
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NOTES

CALCULUS

Write your
questions here!

\Y

Find the derivative.
flx) = (Bx*—2x+5)3

= 3(%("’ DK"S')‘I [I—"x”"J)

Find the derivative of the following.

f(x) =+v4x -3
Fod= (rx-3):

—?' (x)= "5 [‘lx-éé [‘Ix-!b,
= 4 (4x-B% (4)
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V=T

Y'{x)= 3(?,xq-9x"§): [qu— x-'SB’

CHAIN RULE
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Evaluate

() = = = (ax-sY2

Find f'(7)
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NOTES

SUMMARY:

Now,
summarize
your notes

here!
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Find the derivative. <[
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Find the derivative.
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Find f'(4) given the following:
g(4)=3and g'(4) = -
h(4)=9and h'(4) =5
f0 = (g)° f60) = /A £(0) = h(g(x)
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